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Mini Classic Sudoku

Place adigit from 1 to 6 in each empty cell so that each digit appears exactly once in each
row, column and 2X3 box.

Mini Classic Sudoku -1 Mini Classic Sudoku - 2
1 point 1 point
" v v
2 5 216
3 Z 6 5
> 112 3 1
)og 3|4 5 6
5 1 4 3
3 6 114
Mini Classic Sudoku -3 Mini Classic Sudoku - 4
1 point 1 point
p V P
1 3 2 1
5 1 4
6 o2 5] 1
) 2 4 ) g 216
4 3 9
5 2 3 2
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Classic v

Sudoku - 1 2 3 A
5 points 1 V4
to 6 in each emply 4 9 / 3
cell so that each
digit appears 3 1 2
exactly once in each
, | d
X3box. 7 5
»| |8 6
2 8 6 /
4
1 6 8 9
Classic
Sudoku - 2 } 4 9
4 points 2|7/6]15
Place a digit from 1 8 2 7
to 9 in each empty
G *° " opes 9 1 3
exactly once in each 4 8 2 6
, | d
X3box.
7 9 1
3 38 2
o143 |8
P> 6
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Classic v

Sudoku -3

5 points

Place a digit from 1
to 9 in each empty

cell so that each 2 5 3 1
digit appears

exactly once in each 5 8
row, column and

3X3 box. 4 6

Classic V

Sudoku -4
2|95 9
6 points
6 2147
Place a digit from 1 9 1 3
to 9 in each empty
cell so that each b 1 2
digit appears
tl i h
row, column and 3/8|6
3X3 box. 9 5
7 1
417 |2 3

6 8|2
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Irregular Frame -1 11

2 points 12

Place a digit from 1 to 6 in 6
each empty cell so that each
digit appears exactly once in
each row, column and
outlined region. Each
outlined region is marked by
thick borders.

\ A4

Numbers outside the grid

equal the sum of the digits 9
appearing in the cells in the

first box (till the next bold

line) seen from that edge of 10
the grid.

Irregular Frame - 7 11 18 12 V 17 25
2 28 11
11 points 12 12

Place a digitfrom1to 9 in
each empty cell so that

each digit appears 18 12
exactly once in each row, b

column and outlined
region. Each outlined
region is marked by thick 18 15
borders.

Numbers outside the grid
equal the sum of the digits 9 21
appearing in the cells in
the first box (till the next
bold line) seen from that 8 18

edge of the grid.
24 18 19 14 8 10
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Unordered
Distances -1

5 points

Apply classic Sudoku
rules.

Outside some rows
and columns, the
distance between two
digits in that row or
column is given. The
order of the two digits
is NOT given and is to
be determined as part
of solving.

Unordered
Distances -2

12 points

Apply classic Sudoku
rules.

Outside some rows
and columns, the
distance between two
digits in that row or
column is given. The
order of the two digits
is NOT given and is to
be determined as part
of solving.

€l

v-G-¥
v-€-¢
v-€-¢
v-¥-€
v:9-1

v-€-¢
G-¥-€

9:G-v

1:9-G
8:,-9
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3-4:4
1-5:4
9-6:4
1-5:4
4-5:4

4

Sudoku Hahabharat

1-2:3
2-3:4
3-4:5

4-5:6
5-6:7
6-7:8
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Outside Parity - 1

3 points 1 1 2 1
Apply classic Sudoku 1 6
rules.

1 2

Each number outside the
grid is the number of 1 2
consecutive digits with
the same parity from the
corresponding direction. 3

(Note: The bold line is » 2 1

NOT a stopper for the
outside clue. Actually, the 2 5
clue has no relation with

the bold line.) 2 2 1 1

Outside Parity - 2 2 1 1 2 1 92

15 points 5 7

Apply classic Sudoku
rules. 3 6 1

Each number outside the } 4 3
grid is the number of
consecutive digits with

the same parity from the 1 3 9 2
corresponding direction. 8 1 3|2 7

(Note: The bold line is
NOT a stopper for the 5 6 8 1
outside clue. Actually, the
clue has no relation with 3 1
the bold line.)

1 2 2 1 2 1
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Coded Pairs - 1

3 points é) @

Apply standard Sudoku A
rules. _O

Some letters are given
between two adjacent
cells. Same letter _®
represents same pair of »
digits across the grid.

Different letters must

W | 0o | N
N@W
7

represent different pairs. @ 4 1 5 ™)
Ordering of digits inside Lt+w
the pair does not matter @ @

Coded Pairs - 2

o |8l9|3]| ®
12 points
Apply standard Sudoku »_@ ®_
rules.

OO0

Some letters are given 2 1
between two adjacent
cells. Same letter

oo
(@))
N
©

represents same pair of
digits across the grid.
Different letters must V4 6
represent different pairs. P @ @ ® S
Ordering of digits inside O- -O
the pair does not matter

®© |12/4|7] ®
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Fortress
Sudoku - 1

2 points

Apply classic sudoku
rules.

There is a fortress on
the playground formed
by shaded cells. The

LA

shaded cells have to 2 6
be greater than the

horizontally or

vertically adjacent 5 2
white cells.

Fortress
Sudoku - 2

11 points

Apply classic sudoku 3
rules.

There is a fortress on 8
the playground formed

by shaded cells. The b
shaded cells have to

be greater than the

horizontally or
vertically adjacent
white cells.

Ol | =~ BN
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